Your Name:

BA4326/5326 Quiz 2

Section:

Quiz 2 due in class
1. One-tail or two tail test? Circle the right one:

Does a redesigned inkjet cartridge last longer? 1tail  2-tail
Chinese smokers. Are they smoking more or less than in 19927 1tail  2-tail

Average price of VCRs has decreased from $215 in 1992 1tail  2-tail -
Females and males differ in height 1tal 2l Think
Males are taller than females ltail  2-tail .

2. Suppose a 95% confidence interval for an estimate of a population mean turns out to be (1,000- 2,100).
What does it mean to be "95% confident" in an inference that the true mean isin thisinterva ?
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A. Inrepeated sampling, the population parameter would be between 1000 and 2100 95% of the time.
B. 95% of the observationsin the entire population fall in thisinterval.
C. 95% of the observations in a sample will awaysfall in thisinterval
D. 95% of subsequent sample means would fall in thisinterval.
E. With enough repeated sampling, 95% of the intervals constructed like this would include the population
mean, so I'm 95% confident that this one does.
3. Intesting (at alpha=0.05) whether hospital length of stay (LOS) was reduced from ettt —
an average of 5.0 days, with H, that it was still = 5.0, asample of 100 patients gave a imm =
mean of 4.53 with a standard deviation of 3.68. The P value turned out to be 0.1 Standard Eror o Rﬁﬂﬂﬂﬁi:_
What should we conclude? Hods At
A. The probability of rejecting the null hypothesisis 10% g:;:r;ﬁ:;:‘r'fr JgTatao
B. Sincethe P value greatly exceeds apha =0.05, the null hypothesis should be kurosis 5.27681 190,
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C. Sincethe P value exceeds .05, there is insufficient evidence to reject the null :'umirqnim 1
hypothesis at 95% confidence. i;‘ﬂ'“"m 24
D. We are 90% confident that the true mean is 5.0 wount 100;
E. Thereisahigh probability that some patients had negative lengths of stay. :"a':iif[g}e};:;jg ) u'ﬁiéﬁq?e
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4. The hospital administratorsin the previous example feel asif their careers are threatened if they can't
conclude that the average LOS has decreased below 5. From the data above, can we conclude that the
average has NOT dropped below 5.0 days? In other words, would you ACCEPT the hypothesisthat it is
gtill 5.0? Why or why not?

5. What can the administrators do with the test to make it more likely the null hypothesis will be rejected
when it isredly false?
Circle al that apply:

increase the sample size

increase the alpha level

increase the beta level

increase the confidence level

decrease the sample size

compare samples of like cases (e.g. appendectomies to appendectomies) to control for other variables
Get more careful peopleto enter data
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